

① a) $\int \frac{12x^2}{x^3+5} dx$ let $u = x^3+5$, $du = 3x^2 dx$
 $= \frac{12}{3} \int \frac{3x^2}{x^3+5} dx = \boxed{4 \ln|x^3+5| + C}$

b) $\int 9x\sqrt{x^2+4} dx$ let $u = x^2+4$, $du = 2x dx$
 $= \frac{9}{2} \int \sqrt{x^2+4} \cdot 2x dx = \frac{9}{2} \int \sqrt{u} du = \frac{9}{2} \int u^{1/2} du = \frac{9}{2} \left(\frac{2}{3} u^{3/2} \right) + C = \boxed{3(x^2+4)^{3/2} + C}$

c) $\int \frac{6}{x(\ln 3x)^2} dx$ let $u = \ln 3x$, $du = \frac{3}{3x} dx = \frac{1}{x} dx$
 $= 6 \int \frac{1}{(\ln 3x)^2} \cdot \frac{1}{x} dx = 6 \int \frac{1}{u^2} du = 6 \int u^{-2} du = 6(-u^{-1}) + C = \boxed{-6(\ln 3x)^{-1} + C} = \boxed{-\frac{6}{\ln 3x} + C}$

d) $\int \frac{80e^{2x}}{(5e^{2x}+1)^3} dx$ let $u = 5e^{2x}+1$, $du = 10e^{2x} dx$
 $= \frac{80}{10} \int \frac{1}{(5e^{2x}+1)^3} \cdot 10e^{2x} dx = 8 \int \frac{1}{u^3} du = 8 \int u^{-3} du = 8 \left(-\frac{1}{2} u^{-2} \right) + C = \boxed{-4(5e^{2x}+1)^{-2} + C}$

② $f(x) = (e^{2x}+1)^4$ $f'(x) = 4(e^{2x}+1)^3 \cdot (e^{2x} \cdot 2) = 8(e^{2x}+1)^3 \cdot e^{2x}$
 $m = f'(0) = 8 \cdot 2^3 \cdot 1 = \underline{64}$ $\boxed{y - 16 = 64(x - 0)}$ or $\boxed{y = 64x + 16}$

③ $f'(x) = \frac{5x^3-6}{x^4}$ For $x > 0$; passes through (1, 10)

$f(x) = \int \left(\frac{5x^3-6}{x^4} \right) dx = \int \left(\frac{5x^3}{x^4} - \frac{6}{x^4} \right) dx = \int (5x^{-1} - 6x^{-4}) dx = \underline{5 \ln|x| + 2x^{-3} + C}$

$f(1) = 5 \ln 1 + 2 + C = 0 + 2 + C = 10$ so $\underline{C = 8}$ and $\boxed{f(x) = 5 \ln x + 2x^{-3} + 8}$
 (CAN DROP ABS. VALUES, SINCE $x > 0$)

④ $x^5 y^2 - e^{y^4} - \ln 8y = x^3 + 9x$

$\frac{d}{dx} (x^5 y^2 - e^{y^4} - \ln 8y) = \frac{d}{dx} (x^3 + 9x)$

$\underline{2x^4 y y'} + 5x^4 y^2 - e^{y^4} \cdot 4y^3 y' - \frac{8y^4}{8y} = 3x^2 + 9$

$2x^4 y y' - 4y^3 e^{y^4} y' - \frac{1}{y} y' = 3x^2 + 9 - 5x^4 y^2$

$(2x^4 y - 4y^3 e^{y^4} - \frac{1}{y}) y' = 3x^2 + 9 - 5x^4 y^2$

$y' = \boxed{\frac{3x^2 + 9 - 5x^4 y^2}{2x^4 y - 4y^3 e^{y^4} - \frac{1}{y}}}$

⑦ $\int 36\sqrt{x} (x^{3/2} + 9)^5 dx$ let $u = x^{3/2} + 9$, $du = \frac{3}{2} x^{1/2} dx$

$= 36 \cdot \left(\frac{2}{3} \right) \int (x^{3/2} + 9)^5 \cdot \left(\frac{3}{2} \right) x^{1/2} dx = 24 \int u^5 du = 24 \left(\frac{u^6}{6} \right) + C = \boxed{4(x^{3/2} + 9)^6 + C}$

5) $y = (e^{4/x} + 5\sqrt{x})^{\log_2 x}$

1) $\ln y = \ln (e^{4/x} + 5\sqrt{x})^{\log_2 x} = \log_2 x \ln (e^{4/x} + 5\sqrt{x})$

2) $\frac{y'}{y} = \log_2 x \cdot \left(\frac{e^{4/x} (-\frac{4}{x^2}) + 5\sqrt{x} \cdot \ln 5 \cdot \frac{1}{2\sqrt{x}}}{e^{4/x} + 5\sqrt{x}} \right) + \frac{1}{x \ln 2} \cdot \ln (e^{4/x} + 5\sqrt{x})$

3) $y' = (e^{4/x} + 5\sqrt{x})^{\log_2 x} \left[\log_2 x \cdot \left(\frac{e^{4/x} (-\frac{4}{x^2}) + 5\sqrt{x} \cdot \ln 5 \cdot \frac{1}{2\sqrt{x}}}{e^{4/x} + 5\sqrt{x}} \right) + \frac{1}{x \ln 2} \cdot \ln (e^{4/x} + 5\sqrt{x}) \right]$

6) $y = Ce^{kT} = 8e^{kT}$

when $T=11, y=5$: $8e^{11k} = 5, e^{11k} = \frac{5}{8}, \ln e^{11k} = \ln \frac{5}{8}, 11k = \ln \frac{5}{8}, k = \frac{1}{11} \ln \frac{5}{8}$

$y = 8e^{(\frac{1}{11} \ln \frac{5}{8})T} = 8(e^{\ln \frac{5}{8}})^{\frac{T}{11}} = 8(\frac{5}{8})^{\frac{T}{11}} \quad (\text{OR } e^k = (\frac{5}{8})^{\frac{1}{11}})$

when $y = .60(8), 8(\frac{5}{8})^{\frac{T}{11}} = .6(8), (\frac{5}{8})^{\frac{T}{11}} = .6,$

$\ln (\frac{5}{8})^{\frac{T}{11}} = \ln .6, \frac{T}{11} \ln \frac{5}{8} = \ln .6, T = \frac{11 \ln .6}{\ln \frac{5}{8}} \text{ yr}$

8) $f(x) = \frac{(\ln x)^3}{x} \quad f'(x) = \frac{x \cdot 3(\ln x)^2 \cdot \frac{1}{x} - (\ln x)^3 \cdot 1}{x^2} = \frac{3(\ln x)^2 - (\ln x)^3}{x^2} = \frac{(\ln x)^2 (3 - \ln x)}{x^2}$

$f'(x) = 0$ if $\ln x = 0$ or $\ln x = 3$, so $x = 1$ and $x = e^3$ are the critical numbers.

(+ + -) f' (same signs as $3 - \ln x$)

$f'(e^{-1}) = 4e^2, f'(e) = \frac{2}{e^2}, f'(e^4) = \frac{4^2(-1)}{e^8}$

$f(e^3) = \frac{27}{e^3}$ is a REL. MAX.

(No REL. EXTREMUM AT 1)

9) $T = 5 + Ce^{kT}$

1) $T=0$ gives $205 = 5 + C$

2) $T=8$ gives $175 = 5 + Ce^{8k}$

3) $T=16$ gives $151 = 5 + Ce^{16k}$

1) - 2) gives $30 = C - Ce^{8k} = C(1 - e^{8k})$

2) - 3) gives $24 = Ce^{8k} - Ce^{16k} = Ce^{8k}(1 - e^{8k}) = [C(1 - e^{8k})] e^{8k} = 30e^{8k}$

so $e^{8k} = \frac{24}{30} = \frac{4}{5}$

Then $30 = C(1 - \frac{4}{5}) = \frac{C}{5}$ so $C = 150$ and $5 = 205 - C = 550$

OR 1) gives $C = 205 - 5$, so 2) gives $e^{8k} = \frac{175 - 5}{205 - 5}$ and 3) gives $e^{16k} = \frac{151 - 5}{205 - 5}$

Then $\frac{151 - 5}{205 - 5} = (e^{8k})^2 = \left(\frac{175 - 5}{205 - 5}\right)^2$, so multiplying by $(205 - 5)^2$ gives

$(151 - 5)(205 - 5) = (175 - 5)^2, 151(205) - 3565 + 25 = 175^2 - 3505 + 25,$

$65 = (151)(205) - 175^2 = 330, 5 = 550$